” faal Addition von Briichen ( gemischter Bruch )
Name: Datum: Ergebnis:
6 7 7 1
2+l L4l =
9 9 9 4
2 6 3 2
Zi-= S 4+1Z =
9 8 5 4
1 3 2 6
Z4l= 1Z+-=
4 4 5 8
I 6 7
9 8 8 9
2 7 I 2
8 8 6 4
3 1 3 1
4o = Z4+2-=
7 8 6 2
6 1 5 7
—+3= = 4l =
9 2 6 9
2 4 2 4
Z 4+ - = — 4+ - =
3 9 3 5
1 3 2 5
4+ = — 4+ =
22 7 1 3 7
6 4 3 1
2+l 4] =
8 6 8 4

www.snowmath.com



https://www.snowmath.com

Addition von Briichen ( gemischter Bruch )
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Datum: Ergebnis:

7,1 B
9 4 36 36
3,2 211
5 4 10 710
2.6 4 3
5 8 20 20
7 7 119 47
=21
8 9 7 72
1 2 2
4+ - ==

6 4 3

3 1

Z40_ =

6 2 3

5 7 29 11
=21
6 9 I8 18
2 4 22 7
== 1=
3 5 15 15
2,5_50 8
3 7 21 21
3,113 5
8 4 8 8
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